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‘What is the loadf:carry-i'ﬁg"éapacitgl of thé robot?

: What are the common four confi guratlons of a robotic arm'?

_:Find ‘the matrix transformatlon of a- hne which is r@ta{‘cd by 300 to Y’ ax_ls followed by
“translation of -5 units oY axis followed By rotation of 60°to Y axis. *
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ROBOTICS
(Common to ME MSNT)

consists of 5 Units. Answer any one full questlon from each unit. Each question carries 10
marks and may have a, b as sub questions.

25 Marks)""'--v.

[2]
Sketch the work volume of cylindrical robot. [3]
What is composite rotation matrix? [2]
What are world coordinates? [3]
What is an arm singularity? [2]
What is.forward dlfferennal motlon_model‘7 Gl 4 e Bl,
' g5 21\ {

What is.the purpose ‘of rotatmg wip ritr- potentlome 0 i [3]
What is the reason for using a robot in stamping press 0perat10n‘7 [2]
What are bowl feeders? [3]

OR
Describe the various components of an industrial robot.
Describe the three types of automation under the category of an industrial robot.

[10]

How the joint coordinates-and world coordinates arg'related?

[0y * -t
OR

Establish the link parameters and find the final transformation matrix for the following 3

DOF manipulator as shown in figure. [10]

0. 0,0
Base frame




6. Discuss the Newton Euler algorithm carried out for the complete dynamic formulation of
an n- dq__lf mampulator i, e L [10]

maximum velocity and acceleration for this trajectory.
b)  Whatare the various intermediate constraints on the intermediate points of the trajectory.
[10]

scuss about the prmc]p]es and types ofelectric m@tors """ P e [0 =

), D:scuss about any three types of factile genors. [’fO]
10.a) What is a palletizing operation where robot finds an application.
b) How robot is used for any machining operation. [4+6]

OR




